2,

Write interval notation and graph the interval.

{x|-1<x<6}

What is the interval?
{~=1,6] (Type your answer in interval notation.)

Which graph is correct?
A
! 1 ]

T T T

8 6 -4

o',

Write interval notation and graph the interval.

{x[x < —3}

Choose the correct graph.
(A

‘What is the interval?

L]

(Type your answer in interval notation.)

Find the absolute value.

|- 11|

Find the distance between the points on a number
line.

-35,—65

Find the distance between the given pair of points
on the number line.

17
2° 4

[—1.H= 11
(Simplify your answer. Type an integer or a
decimal.)

The distance is 60..

The distance is :’:

(Type an integer or a simplified fraction.)

Page |




7 28eq

- [szz"‘{/.xﬂ )
o \o% A1 XTT
[ezz—‘,:"” )

o \oZs- &1 ¥TC

“Apypdung

W TS -
oz %er - WET —

U, WSS —
ocer - WS —

“Ajndwts pue apIAIq

(syusnodxo oanisod s onejon jepuLtodxa odA 1)

¢X95¥vE oD

XOSHE— v
“TOMEUE JOOIT0D 21]] 95001

Ayidws pue ANy

4
=B (G x0)(_x€-)

(‘uonoeny
© 10 1939ur ue odA 1, ~Tomsue moA Ajrjdung)

L]=¢®
(‘urog (enuouodxo ui odA 1)

01

(%) Xg-)

“Ayrpdung

‘() # 0 oINSy
"1 91en[BAR ULY] pue uorssoxdxo oy Ajrjduns jsarg



I1.

12,

Divide and write the answer in scientific notation.

22x107°

8.8x1077
22x1077 [
88x107°
(Use scientific notation. Use the multiplication symbol in the math palette as needed. Round to the
nearest thousandth as needed.)

Simplify the expression.

7(2-4)°-9:3+9-4
22474

7(2-4)*~9-349-4
2+ 74 -
(Round to the nearest thousandth.)

13.

Determine the degree of each term of the polynomial, the leading term, the leading coefficient and the
degree of the polynomial.

—-3x3+7x% +4x +3

The degrec of the firsttermis | J.
The degree of the second term is E:|

The degree of the third term is D

The degree of the fourth term is D

The leading term is D

The leading coefficient is D

The degree of the polynomial is D
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{ 9deg

(€-®)¥+.8 qD
T —(p+ee—8)e g0

(€-e}p+(€-8)® 00
T+ vO
=TI — B + 8¢~ ©
TT—B8p+,BE— B
10108 61
(1omsue anok Ajipdung)
[ ]=(c-19)(5+35)
(§ —16) (5 +7¢)

“Jonpoid a1 pur ‘81

("1omsue mo Adung)
D = z(L = XS)

(L—%8)

"[erwourq oy a1enbg L1

("romsue o4 Ajrjdung)

[]-@-9+%

Ay 91

(‘romsue mok Andung)

[ ]=(8+46-,48)(9 &)

(8+ 46 — 48)(9 — )
Arduyny Sl

(1emsue o4 Ajdurg)

[[1=(5+ X %6~ X0 — (74 X~ XE ~ /XQ)

(S+ X —X6— X0 —~ (P + (X~ XE—XC)

"pareotpur suoTiedo Y] ULIopS 4!



20. Factor the trinomial.

21.

2 +5t+6

Select the correct choice below and, if necessary, fill in the answer box within your choice.

(A The answer is (Factor completely.)

(»B. The trinomial is not factorable.

Factor.
3b2+16b+5
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

QA 3b2+16b+5

()B. The trinomial is not factorable,

22. Factor completely.

Select the correct choice below and, if necessary, fill in the answer box within your choice.

(C3A. The answer is (Factor completely.)

(3B, The binomial is not factorable.

Factor.

¢ +27

Select the correct choice below and, if necessary, fill in the answer box within your choice.

(A The answer is
(Type your answer in factored form. Simplify your answer.)

(1B, The binomial is not factorable.

Page s




9 28eq

-awnxd st [erwrouAtod oy, g

(APreduios J010e)

=9 +ST — 45 v
"00T0y0 MoK 9191dwIod 0) X0 Jomsue ay) ur J[IJ ‘A18s5200U JT ‘PUB MO{aq 970D J0ILI0D I} 10008

9€+SZI _ZS

*I010B.] 'S¢

[ ]=01 —ar1 - ;9

0l — qIT — .99

‘[enuouLy 213 10308, VT



